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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
1.
1) 37 2) 87 3) 5.340 4 267
- 3 - 6 -5.217 - 29 5
3.
4.
5 7.005 6) 991 7 913 8 2.937 >
- -768 - 90 - 528 6
7.
8.
9 68 100 141 11) 36 12) 8.577 9.
-27 - 28 - 7 - 3.535
E— EE— E— — 10.
11.
12.
13) 77 14) 367 15 113 16) 52 13,
- 55 - 5 - 8 - 20
o S S o 14.
15.
16.
17)  7.843 18) 6.836 199 774 200 1.437 17
-1.510 - 277 - 2 - 9
18.
10.
20.
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Subtraktion (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1 34
1) 37 2 87 3) 5.340 4 267
- 3 - 6 -5.217 - 29 ) 81
34 81 123 238
3 123
4 238
5 7.005 6) 991 7 913 8 2.937 > 6.956
- 49 -768 - 90 - 528 6 223
6.956 223 823 2.409
7 823
8 2.409
9 68 100 141 1) 36 12) 8.577 9, 41
- 27 - 28 - 7 -3.535 o 113
41 113 29 5.042
11, 29
1 5.042
13) 77 14) 367 15 113 16) 52 13, 22
- 55 - 5 - 8 -20
22 362 105 32 w362
15, 105
16. 32
17) 7.843 18)  6.836 19 774 20)  1.437 7 6.333
-1.510 - 277 -2 - 9
6.333 6.559 772 1.428 18, 6.959
10. 772
0 1428
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
29 238 81 34 6.956
41 2.409 5.042 113 223 1.
823 123
2.
1) 37 2) 87 3 5.340 3.
- 3 - 6 -5.217
E— E— E— 4,
5.
6.
7.
4 267 5 7.005 6) 991
- 29 - 49 - 768 8.
9.
10.
11.
) 913 8 2.937 9 68 12
- 90 - 528 - 27
100 141 1) 36 12) 8.577
- 28 - 7 - 3.535
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